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0-0005

1)
42,912
2)
30,168
3)
27,636
4)
27,636
25¢ |
6 14,868 06021
2. 5t 5.5t
25t
6 12,768 06021
3)
2.532
4)
mB3 2. 532
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|
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0-0006

50,000m3 |
10 m3 2,532 060210
2)
12,744
3)
12,744
4)
mp2 12,744
22x1524x6096,1604kg/ | |\ |
3 3,564 060210
27 _mp 4,725 060210
27 _mp 4, 455 060210
42,912
48,770

05 -
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0-0007

1 48, 770 06021

6, 000

54,770

97,682

47,000

144, 682

12,292

26

12,318
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0-0008

57,

000

15,

700

72,

700
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|
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0-0009
SPK23040167 0 -0001
25t 1
35. 98% 64. 02% 0. 00% 0. 00% 2,38
( ) ( ) ( )
< > ( ) KTPCOO0OO Y4
25t 35. 98% 59, 300] ] 25t 42, 80PT00014
RTPCO0O00Q9
22.72% 24,1580 26, RIPT000(Q9
RTPCO0O00Q1
22. 01% 21,000 25, RUPT000(Q1
RTPCO0O00Q2
19.10% 16,800 22, B0IPT000(Q2
( ) ( ) ERO0O0Y9
3.76 0
EPOO1
2,478 0
A=1 B=1
Cc=1 25t
2,477.3433 = 2,381.2000 *
([35.980/100*59,300/42,000]) * [35.980/35.980]
+ ([22.720/100*24,150/26,500] + [22,010/100 * 21,000/25,700] + [19] 100/ 100 |*
+ [100-35.980-64.0201]1/1060

05 -
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NN

=

SPK23040165 0O -0002
2.5t 5.5t 25t 1
20. 60% 47 . 55% 31.85% 0. 00% 3,
( ) ( ) ( )
< > ( ) KTPCOOO 1
25t 20. 6 0% 59, 300] ] 25t 42, BOPTOO0O 1
RTPCOOOG
21. 91% 16, 800 22, BROPTO0O0O0QC
RTPCOOOG
13. 00% 24,180 26, ROIPTO00O0QO
RTPCOOOG
12. 60% 21,000 25, RIPTO00O0QC
( ) ( ) ERO0O0O9
1. 02 0
( ) ( ) ¢16 TTPCOO0O19
¢1l6 31.85% 0 10, TOPTOO019
10
E9999
2,128 0
A=2 2.5t 5.5t B=1
cC=0 10 D=1
E=1 25t F=1 ( ) o1
2,127.2016 = 3,139.0000 *
([ 20.600/100*59,300/42, 0001 * [ 20.600/20.600]
O05-******x_(00001-10



0-0011

13

SPK23040165 0 -0002
2.5t 5.5t 25t 1
20. 60% 47.55% 31.85% 0.00% 3,
( ) ( ) )

+ ([21.910/100*16,800/22,300] + [13.,000/100 * 24,150/26, 500] [ 12, 600/ 100

+ ([31.850/100*0/10,000]) % [31.850/31.850]

+ [100-20.600-47.550-/31.850]/100

() = 10 C )
10 ()

0.000( )

05 -
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0-0012
SPK23040007 0O -0003
50, 000m3 1 m3
44. 49 % 35.67% 19.84% 00 % 27
( ) ) )
( ) ( ) MTPCOO01H3
2014 44.49% 21,600 2014 21| MOUPTO001H3
0.8/ 0.6m3 0.8/ 0.6m3)
( ) RTPC0O0O0(6
35.67% 19,320 25, RUPTO000(6
TTPCOO0O13
19. 84% 146 T3BT00013
EPOO1
253, 2 0
A=2 B=1 50, 000 m3
253.1322 = 273.0100 *
([ 44. 490/ 100*21,600/21,600]) * [44.490/44.490]
+ ([35.670/100*19,320/25,300]) * [35.670/35.670]
+ ([19.840/100*146/138]) * |[19.840/19.840]
+ [100-44.490-35.670-19.840]/100

05 -

sk xxx_00001-10



0-0013

S10500209 0 -0004
22x1524x6096, 1604kaql/ 1
( ) KO100077
22x1524x6096, 1604kg/ 1.000 88 88
90
( ) K0100085
22x1524x6096, 1604kg/ 1.000 1, 100 1,100
#91
1 0
1 1,188
A=4 22x1524x6096, 1604kg/ B=1
cC=1 ( ) D=2

05-******.00001-10



0-0014

S1050041 0 -0005
100 m2
RTPCO000O9
0.152 24| 150 3,670
9
RTPCO00O0O4
0.152 24|, 465 3,718
9
RTPCO000O 2
0.152 16,800 2,553
9
- 28 _ ( ) S9035 0-0006
2.9t _ 0.8m3 0.152 49,210 7,479
9
#009
1 0% 17, 420 80
100 m2 17,500
1 mp2 175
= 1 * 100 /| D = 1 F 100|/ 656 = 0 152 4
= 1 * 100 / D =1 * 100 / 656 = 0.152( ) 3
= 1 * 100 / D/ = 1 * 100 /| 656 = 0.152( ) 4 3
( ) = 10 100 656 = 0.[152( 4

05 -

* * * * * %
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0-0015

- 28 _ ( ) S9035 0 -0006
2.9t 0.8m3
RTPCOO00OG6
1.00 19,320 19,320
TTPCOOO013
119.00 L 146 17,374
< > ( KTPCOOO0OG6
0.8m3( 0. 6m3) L9t 1.06 11,800 12,508
#91
1 8
1 49,210
A=109 _ 0.8m3 pB=119 L/ )
c=1 ) D=1.06 ( /)

05_******
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0-0016

S105004 3 0 -0007
100 m2
RTPCO000O9
0.143 24| 150 3,453
9
RTPCO00O0O4
0.143 24| 465 3,498
9
RTPCO000O 2
0.143 16, 800 2,402
9
- 28 _ ( ) S9035 0-0006
2.9t _ 0.8m3 0.143 49,210 7,037
9
#009
1 % 16,390 110
100 m2 16,500
1 mp2 165
= 1 * 100 /| D = 1 F 100/ 701 = 0| 143( ) 4 3
= 1 * 100 / D =/ 1 * 100 / 701 = 0.143( ) 4 3
= 1 * 100 / D =1 * 100 /| 701 = 0.143( ) 4 3
( ) = 100 / D =| 100 701 = 0.[143( ) 4 3

05-******.00001-10



0-0017

( , H , ) S1000007 0O -0008
10. 1km 12m 1
S10000009 0-00009
10. 1km 1.000 17, 171 17,171
12m 4, 81t
+00
17, 171 3147, 137412* 2
, S10000009 0-0010
1.000 14|, 428 14, 428
1 48, 770
A=10.1 ( km) B=1 12m
C=1 - D=1 -
E=4.81 (t) F=1 R
H=1 - J=1 -
L=1

05-******.00001-10



0-0018

S10000009 0 -00009
10. 1km 12m 4. 81t
Juoo1l
. 000 570 3,570
t E0001
. 810t 570 17,171
17,171
A=1 B=10. 1 ( km)
c=1 12m D=4.81 (t)

05 -

* * * * * %

-00001-10



S1000009

0 -0010

0-0019

KROOEOOG

X >
o
P o

4.810 750 3,607
KROOEOOD9

4.810 750 3,607
KROOEOOS

4.810 750 3,607
KROOEOO?7

4.810 750 3,607

1 14, 428

D=4. 81 (t)

05 -

* * * * * %

-00001-10



0-0020

X1000
Y1DO2
2,912
Y1D02O0pH
0, 168
Y1D020pH02
7, 636
Y1D02050203
7, 636
SPK23040167 A4TI8B=1, C=1
AA = . B= , C=
25t
SPK23040165 Ax28B=1,C=0,D=1,E=1, F=1
2.5t 5.5t 2A=2 . 5t 5.5t , B= , =
, D= , E=
25t , F= ( ) 16
Y1D020H503
2,532
Y1D02050301
m3 2,532
SPK23040007 1 A233B21
m3 2A = , B= 50, 000m3
Y1D02O0J7
2,744
Y1D020701
2,744
Y1D020701014
m2 2,744
S10500R9 A¥88B=1,C=1, D=2
22x1524%x6096, 1604kg/ BA=22x%x1524x6096, 1604kgqg/ , B= , C3
S1050041 2 175
m2 4, 725

05_******

-00001-10



0-0021

S105004 3 2 165
m2 4,455
G00O0O
42,912
Z0004
48,770
S1000007 ( ,H 4gA7710.1,B=1,C=1,D=1, E=4.81, F=1, H=1
10. 1km 4 8A = (km),B=12m ,C=-,D=-, E=
L = ,
zooso | 1 42,912
6,.0.0.0 0.1519
...... 42,912
6,000
...... 6000=42912*0. 1580 (0.15109*
G1000
54,770
G2000
97,682
zooz20 | 1 97, 682
47 ,.0.0.0 0.4575
...... 97,682
1.0000
47,000
...... 47000=97682*0.4850 ((0.457
4575*1.06)
G4000
144,682
zooso | 1 91, 682
12, 292.... 91,682
...... 13246=5229511*42912/1694132
Z0031 172,700
26..26=10459*42912/ 16941320

05_******
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0-0022

G4100
1 318
G4800
15 000
20038 | 157,000
1 Z.0.0 0.1000
...... 104,000
...... 15700=157000*0.100
G600O
17 700

05_******
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0-0023

SP K2 30400 1-6070 0 1 A=1,B=1, C=1
1 2,47
25t
SP K2 30400 1-6050 0 2 A=2,B=1,C=0,D=1, E=1, F=1
2.5t 5.5t 1 2,12
25t
S P K2 30400 0-0070 0 3 A=2,B=1
m3 1 253
50, 000m3
S10500P209 -0004 A=4,B=1,C=1, D=2
22x1524%x6096, 1604kg/ 1 1,18
S10500401 - Q005
m2 100 17,500
S9035 0O -00088 _ ) A=19,B=119,C=1,D=1.06
2.9t . 8m3 1 49,210
S10500403 - 0007
m2 100 16,500
S10000007 - 0008 ( , H , ) A=10.1,B=1,C=1, D=1, E=4
10. 1km 1 48, 770
12m
S10000009 -0009 A=1,B=10.1,C=1,D=4.81
10. 1km 1 17,171
12m 4,81t
S10000009 -0010, A=5,D=4.81, K=1
1 14, 428

05_******
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0-0024

(0.

8)(1.

5.

9)

6)

(3.

7)

TTPCOO]

1 93
¢16

999
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NN
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COAdAAdA—A0 A A 0N~ DO O
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